~ SECTION 1 | Test 3

24+54+2=

6+ =10

3=10- & T
10+7= DR A
14-10 = , A

5p+2p+ip+2p=

10p - 8p = 20
12— =2 10

£10+ # =£15 )

i1 Write the number 14
~as a word.

© What is the missing number? :
1871716, &, 14,13 15

Double 5. 0

£80

Find the total of these notes.

.+ Subtract 6 from 10. 4

+ What number is added to 9
to make 197 10 .

Find the change from a £10

note after spending £4. t6

© Which is the even number? :
9 1 13 15 16 17 | 16

- Increase 1 by 10.

~ Write the number as a word.

What is the
time after

3 hours? 10 o'clock

9 i
8-0-= o 8.
.

_.__fourteen

_eleven |

Schofield & Sims

Write the word for the
number shown on

the abacus. _nineteen

Olivia spends £3 and £5.
How much change from
a £10 note? £l

At a party there were 17 plates
of food. 10 are eaten.
How many are ieft? o 7

- Sophie's cat is 11 years old.

How old will the cat be in

6 years' time? R V]

What number is taken from
19 to leave 127 T i

Find the total length of the

three lines. 18%cm

10cm

7em

Iy
¥

2cm

What is the difference in
centimetres between the

longest and shortest lines? _8am

- If Monday is the first day of the

week, name the fourth day. Thursday

How many 2ps have the same

value as a 10p coin? _.52ps

Hassan has two ¢oins in his
pocket with a total value of

12p. Name both coins. J10p . 2p
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10 +

I B XEE N NN

0+7+0="

.9+3~5= B
| =13

2+8=

6+ =10

- =5=10

What comes next?
4, 8,12, 16, =

One 20p=one10p + & p

O+ =10

10cm + 6am =

How many more dots are
needed to make eighteen?

One 20p =one 10p + =& 5ps

Write the correct sign, + or —,
in place o

13@4=17

- What number is added 1o 4

to make 167
Decrease 20 by 5.

Which is the eighth letter
in the row?

A CEGHIJMOPW

Find the change from one
10p after spending 7p.

‘8. Find the sum of 3, 4, 0 and 10.

0

Ten plus eight minus seven

Which is the odd number?
4 6 12 15 18 20 |

15

20 |
10p
10

~lacm ; 5

12

15

3p;

17

11 |
0

15

- are sawn off to leave 10cm?

SECTION 1 | Test 4

Find the total value of

these coins. 19p

If the date is 4 May, what is
the date 10 days later?

14 May

- The length of & piece of wood

is 17cm. How many centimetres
am

Eltie has 5p. Her sister has
twice as much. Find the total

of their money. ,,,‘3,510

What is the missing number?
4+10+ 0 =19 - |

| spent 12p, 3p and 4p.
How much change did |
receive from one 20p? 1P

Sam is 18 years old.
How old was he 7 yearsago? 11

16 people were on a bus.

Seven got off and three got

on. How many people were

then on the bus? L2

Which of these shapes is
azZ ...

a asquare
b acircle?

O,

On checking his answers 1o

-part C of this test, James had

three wrong. How many had
he correct? B |




